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1. Let X be a matrix of order 3x3, Y be 3. How many 4-digit numbers are there

a matrix of order 2 x 3 and Z be a matrix having all digits as odd?
of order 3x2. Which of the following
statements are correct? (a) 625
I. (ZY)X is defined and is a square
matrix of order 3. (b) 400
II. Y(XZ) is defined and is a square (c) 196

matrix of order 2.

. X(YZ) is not defined. (@) 120

Select the answer using the code given

below, 4. If o#1 is a cube root of unity, then
what is (1+0-©2%)'% +(1-0+0?)00
fa) 1and II only equal to?
(b) 11 and III only (@) 2'°Cw?
fe) 1 and III only
) 2'%g
(d) 1,11 and III
(c) 2100
2. Consider the following statements :
I. The set of all irrational numbers (@ '=g*8
between /12 and /15 is an infinite
set,
II. The set of all odd integers less than
1000 is a finite set. 5. Let A and B be two square matrices of
same order. If AB is a null matrix, then
Which of the statements given above which one of the following is correct?

is/are correct?
(a) Both A and B are null matrices

(a) 1 only
(b) Either A or B is a null matrix
(b) 11 only
(¢) B is a null matrix if A is a non-
fc) Both I and II singular matrix
(d) Neither I nor Il (d) Both A and Bare singular matrices
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6. In the expansion of (14 x)? (1+ x)9, if the 9. If
coefficient of x3 is 35, then what is the

value of (p+q)? . I 2
Z=—3- 2 3 2l=x+iy;i=/~1
fa 5 S N
(b) 6
© 7 then what is modulus of Z equal to?
(d) 8
fa 1

7. If p times the pth term of an AP is equal
to g times the gth term (p # g), then what () 2
is the (p +g)th term equal to?

(@ 0 ¢y 2
(b) p+gq @ 3
fc) prq

(d) palp+aq)

3 5 10. What is the value of the sum
8. Let p=in(x), g=In(x>) and r=In(x>)

where x>1 Which of the following 20
statements is/are correct? DI A LT )
n=1

I.  p, gand r are in AP.

II. p, gand r can never be in GP. where i=/-1? .

Select the answer using the code given

below. (a) -2i
(a) 1 only (b) 0
(b) 1 only

fe) 1

() Both I and II

(d) Neither I nor II (d) 2i
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form v F1 mEw Y

(@ 3
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11. Let x> 1 y>1 z>1 be in GP. Then

1 1 1
l1+Inx’ 1+lny’ 1+lnz

are

(a) in AP

(b) in GP

{c) in HP

{d) neither in AP nor in GP nor in HP

12, If

then what is

1+o 1+0? o+o?
1 w w?
g

equal to?

(@ 0

() ©

el w?

(d) 1-o?
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13. If the sum of the first n terms of

a series is n(2n+ 1), then what is the
nth term?

fa) 4n-1
(b) 4n
fc) 4n+1

(d) 4n+3

14. In how many ways can the letters of

the word INDIA be permutated such
that in each combination, vowels should
occupy odd positions?

(@ 3
(b) 6
fcg 9

d 12

15. The letters of the word EQUATION are

arranged in such a way that all vowels
as well as consonants are together.

How many such arrangements are
there?

(@) 240
(b) 720
(c) 1440

(d) 1620

[P.T.O.



16. 3 n THF x2 + px+m =0 F Th @ B
AR m wfiFO x2 + px+n=0F TF A
2 sEiment, @@ p+m+nF AR TR

(@) -1
(b) O

T B (n > 4)7

(@ (n-3)n-4)
(b) n-1(n-2)
() (n-3)(n-4)/2
(@ (n-2)n-3)/2

18. TR

n 20 30
n? 40 50
n® 60 70

D, =

4
%, @ Y D, ¥ WA FR?

n=1

(a) —-10000
(b) -10
fel 10

(d) 10000
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19, AR
0 ¢ -b a? ab ac
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16. f n is a root of the equation 19. Consider the following in respect of the
x2+px+m-0mdmiaarootofﬂ1c matrices

equation x2 + px+n=0, where m=n,

; 0 ¢ -b a? ab ac
then what is the value of p+m+n? Pel€e 0 al wma odli I ke
@) -1 b -a 0 ac be ¢?
) ©

I. PQ is a null matrix.
fc) 1
(@ 2 II. QP is an identity matrix of order 3.
. PQ=0QP
17. In how many ways can a student
choose (n-2) courses out of n courses
if 2 courses are compulsory (n>4)? Which of the above is/are correct?
(@ (n-3)(n-4)
fa) 1 only
() (n-1n-2)
fe) (n-3(n-4)/2 (b) 1I only
(d (n-2)n-3)/2
fc) 1and I
s (d) 11 and II
n 20 30
D, =|n? 40 50
n® 60 70

20. If P is a skew-symmetric matrix of
order 3, then what is det(P) equal to?

4
then what is the value of ¥ D,?

5 (@ -1
fa) —-10000 ) 0
(b) -10
fc) 10 ot
(d) 10000 (d 3
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21. i 4sin!x+cos ! x=m, a« 24. wiF® 7x? -6x+1=0 ¥ FA tana AN

sin”! x + 4 cos™! x fohe® e 27 Lanﬂi,ﬁ?'hﬂﬂ?%@ﬁﬂﬂ%ﬁﬂ%l
Frefaftas 4 @ F=-a1 o o 87
(@ n/2
WS (@) Pyt wag %
(c) 3m/2 (b) e wefeang R, freg e 74 &
5 2= () T T &
(@) Ty T ufamg &
22. cot?(sec™!2) + tan?(cosec™13) TFEF TR
27
fa) 11/12 25. & B ABCH, £A = 75° 3R £B =45 %1
2a - b e s &7
(b) 11/24
fa) c
€ 7/24
@ 1/24 (®) 2c
fc) 2¢
23. % s ABCH Bl a

a_ _ b __¢
cosA cosB cosC

2 B = dva 7 ¥ aR a=6 Fo o 26. 0 < x <n % T g9 cot2x cot3x = 1%

ar Tt Y T 0 A7
(@) 93 @ Ho Hio il
(b) 12 i Fo Ho ®) =R
(c) 183 & Ro o (c) = ute
(d 24 Fo Ho (@ vtEa s
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21. If 4sin”! x+cos ! x=m, then what is 24. The roots of the equation 7x2 -6x+1=0

sin"! x+4cos ! x equal to? are tano and tanf, where 20 and 28
are the angles of a triangle. Which one
(@ m/2 of the following is correct?
(b) ©n fa) The triangle is equilateral
fe) 3n/2 (b) The triangle is isosceles but not
right-angled
(d) 2n
fc) The triangle is right-angled
22. What is cotz(sec'l 2]+tan2{cos:c‘13] {d) The triangle is right-angled
equal to? isosceles
(@ 11/12
25. In a triangle ABC, ZA = 75° and £B =45°.
(k) 11/24 What is 2a - b equal to?
7/24
(e 7 o
(d) 1/24
(b) 2c
. (c) 2c
23. In a triangle ABC
(d) 2J2¢

a T

-

cosA cosB cosC

26. What is the number of solutions of the

What is the area of the triangle if equation cot2x-cot3x = 1forO< x < n?

a=6 cm?
(a) Only one
(a) 93 square cm
{b) 12 square cm (b) Only two
fc) 183 square cm fc) Only five
(d) 24 square cm (d) More than five

SURN-B-MTH/81A 11 [ P.T.O.



27. cos'% x - sin!%0 x = 1 T HH T T 87 31. F=fafas vemet w famm fifw .

fa) nx I. tan22.5°
(b} [2n+]];r; II. cot22-5°
() 2nm M. tan22-5°-cot22-5°
{d @n+Nn/2 IR # | Fraft s dead #7
i e (@) T
28. T ¥ ABC # tanA+tanB+tanC=k (b) T
21 cot A cot Beot C &1 9 ¥41 87 () Faad
o= 2o @ wft @
(b) 1/k
PReRes 32, TR
(d 1/k3
X y z

cosh i 2n ) 3 (211: ]
cos| =— -0 cos|—+86
29. sin12°sin48° foFa® wU=t 87 3 3

(a) 4_5;;1 R, T x+ y+ z TS S 77
) J§4+1 (@ -1
(b) O
(c) ﬁs"l fe) 1
d 3
(@ J§8+1

33. 92 ptan(@-30°)=qtan(®+120°) ®, @&

30, cosl7°-sinl7° (p+q)/(p - q) FFas st &7

- Torus soer B7
cosl7 +sinl17
{a) sin 26
(a) tan34°
(b) cos 20
(b) cot34°
() tan62° (c) 2sin 26
(d) cot62° (d) 2cos 26

SURN-B-MTH/81A 12



27. What is the general solution of

(@ @n+1n/2

where n is an integer.

28. In a triangle ABC
tanA+tanB+tanC=k
What is the value of cotAcotBcotC?
fa) 0-5k

(b) 1/k
fc) 3/k
(d 1/k3

29. What is sin12°sin48° equal to?
V5-1

(d)

cosl7-sinl7
. What is equal to?
. cosl™+sinl7 o

(@) tan34°
(b) cot34°
fc) tan62®
(d) cot62°

SURN-B-MTH/81A 13

Consider the following numbers :
I. tan22.5°
II. cot22.5°

IIl. tan22-5°—cot22-5°

How many of the above are irrational
numbers?

fa) None
(b) Only one
fc) Only two

(d) All three

32. If

SR ey

then what is x + y+2z equal to?

(@ -1
(b) ©
(c) 1
(d 3

33. If ptan(@-30°)=qgtan(6+120°), then

what is (p+q) /(p - g) equal to?
(a) sin 26

(b) cos20

fe) 2sin 20

{d) 2cos 26

[ P.T.O.



34. WA ST Uh 9= A W P 3R Q ? e 38. TF AP #, ¥ p 731 F A H YW g T F
oy ¥ Prefefaa weel & | F99-8 o &7 qm ¥ g p?:q® R Fefatas § |
. PIMQETAE=PAQTETHA R FH-H1 TF | o7
1. Pan ounfia & = puQuHfE R)

. P3N Q&% § = P~ Quwms B (@ W99 9% WHE AW F T R

= g v F2 = wEm = I g (b) W9H 9% WIE A F M H AW B
(@ ¥IMN () W i we e % A 3w
(b) FaA 11 3T 111
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(d 1, 11 31

3s. 7R A 3w B A hw wy=w &, Rwd 10 39, WiFO (x-1)2 +(x-3? +(x-5% =0 F

%9 w48 §, 99 Ax B 3R Bx A & fEm Tt el $ e w87
g9a HaE §7
(@) F5 T
(@ 10
AR (b) ¥
(c) 40
(c) Fa@ A
(d) 100
(d) =

36. n=100% o 5@ 7" - 6n ® 36 A fawifrm
T <tman 2, @ SEa w0 Bm?

.2 40. 240 faenffat €t wk ®an #, 180 sk #

(b) 1 Il gY, 130 &= # el gy @it 150

) 2 F&pa & I gUl AWM, 60 Faw wF fawm #

(d) 6 il g, 110 ¥t <t Fdt 7 3efiel ge @en
10 foredt st fawa # el i gu) frem wsft

37. = #dt el ofn o qw ¥ wirede-Regst i farei # il gu?

# sfusan dwifgn den =0 & (T &

WY Fe T Y % fr= girese 2)7 (a) 60

fa) 6 (b) 55

(b)) 10

¢ 14 40

(d 16 [d) 35
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34. Let P and Q be two non-void relations

on a set A. Which of the following
statements are correct?

I. P and Q are reflexive = PnQ is

reflexive,

II. P and Q are symmetric = PuUQ is
symmetric.

IlI. P and Q are transitive = PN Q is
transitive.

Select the answer using the code given
below,

(@) I and II only
(b) 1I and III only
fc) 1 and III only
(d) I, II and I

35. If Aand Bare two non-empty sets having

10 elements in common, then how

many elements do Ax Band Bx A have

in common?
(@) 10

(b) 20

fc) 40

(d) 100

36. What is the remainder when 7" - 6n is

divided by 36 for n = 1007
fa) O

(b) 1
fc) 2
(d) 6

37. What is the maximum number of

possible points of intersection of four
straight lines and a circle (intersection
is between lines as well as circle and
lines)?
(@) 6
(b) 10
(c) 14
{d 16

SURN-B-MTH/81A
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38. In an AP, the ratio of the sum of the first

p terms to the sum of the first g terms
is p?: g°. Which one of the following

is correct?

fa) The first term is equal to the
common difference

(b) The first term is equal to twice the
common difference

{c) The common difference is equal to
twice the first term

(d) The first term is equal to square of
the common difference

39. What is the number of real roots of the

equation (x - )2 +(x- 32 +(x- 52 =0?
{a) None

(b) Only one
{c¢) Only two

(d) Three

40. In a class of 240 students, 180 passed

in English, 130 passed in Hindi and
150 passed in Sanskrit. Further,
60 passed in only one subject,
110 passed in only two subjects and
10 passed in none of the subjects. How
many passed in all three subjects?

(@) 60
(b) 55
c) 40

(d) 35

[ P.T.O.



fadw @ e 2 (02) vl F forw Frafefes w ReEr 44, Wit i w&t =1 9 R
o .

(a) 60
o iy 2, ot z, 9 2 widw dEd §, 3
z2+2z2+2,Zz,=0% (b) 65
fe) 75
41. & w1 A= w1 R7 (d) 80
2
(@ 1
(b) 2
c) 3 fdw : a7 91 (02) v ¥ forg Frefafas w fEr
(d 4 it
: o A wifem 8+3VH° =U+V s
42. §+Re(i)*'““"“3? B8-3vN20 =w, il UTs % & N 0<V<1
R
(@ -1
(b) O
fc) 1 45. v+ w foras s 87
d) 2
(d) @ 8
(b) 4
e : e Y (02) 3 F T Prefafae w faEr (c) 2
Hifvr :
(@ 1

T AP ¥ 5 WATE W&l @ PH%E 229635 2|
een, a0 3R ofeat w2 GP A §) ‘
46, [U + V)W &1 oH 01 87

43. T 3w = 7 @ 1/2
3
(a) ® 1
() 4
© s () 3/2
(d) 6 (d) 2
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Direction : Consider the following for the
two (02) items that follow :

Let Z, and Z, be any two complex numbers
such that Z2? +22 +2,2, =0.

zl
Zy

41. What is the value of ?

(@)
(b)
(c)
(d)

bW N

42. What is the value of

%+Rc[§—;]?
(a) -1
() 0
{c)- 1
d 2

Direction : Consider the following for the
two (02) items that follow :

The product of 5 consecutive terms of an AP
is 229635. The first, second and fifth terms
are in GP.

43. What is the common difference?
(@ 3
(b) 4
fc) 5
d 6

SURN-B-MTH/81A
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44, What is the sum of all five terms?

(@) 60
(b) 65
fc) 75

(d) 80

Direction : Consider the following for the

two (02) items that follow :

where U is an integer and O< V< L

45. What is V+ W equal to?
(@ 8
(b) 4
(c) 2

(@ 1

46. What is the value of (U + V)W?
(@) 1/2
() 1
fe) 3/2

d 2

Let 8+3VN)?°=U+V and (8-3V7)?° =W,

[P.T.0.



dw : ol 2 (02) v ¥ fon Prefafgs w fem
Hifee

ferama wefiertor
a’m? -c?)x? +b2(c? - a?)x +c2(@? -b?)=0

49 WA § (@2 # b2 = c2?).

47. Frefafas we@ § § F9-w 9d &7
(a) a2 b2 c? APH |
(b) a? b? ¢? GPH %
c) a? b2 c? HPH ¥

(d) a2 b2 c2AdMAPH A€ GP # 3lr
q¢ HPH §1

48. Fr=fafaa 4 @ #F-w, wfiew #1 o e 87

b2[02 -a?)
a?(c? - b?)

(@)

b2(c2 e az,
.::12(4!)2 -02]

(b)

b2(c? —a?)

@ 2a2(c2 = b2]

.‘321[::2 —a2]

5 1 g T
r ) 2a2(b2 —02)

SURN-B-MTH/81A

dw : A 2 (02) W ¥ o Prefafa w R
$ifs .

3 -3 4
TRt A=|2 -3 4|%
0 -1 1

49. Aladj A) fFas s 27

500
(@ |0 5 0
0 0 5
2 9 o
() (O 2 O
|0 0 2]
L3 0. 0
) | 0 172 0
| 00 R e
(1 0 0
[d |0 10
[0 0 1

50. A~ frud guat 27

o= g
@ |-2 3 -4
-2 3 -3
[1/2 -1/2 0
L e R [ TRl
| -1 3/2 -3/2

e T
) |-4 6 -8

-4 6 -6

d |-2/5 3/5 -4/5
|-2/5 3/5 -3/5

[ 1/5 -1/5 o}
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Direction : Consider the following for the Direction : Consider the following for the

two (02) items that follow : two (02) items that follow :
Let
The roots of the quadratic equation ¥ arre
a?(b? -c?)x? +b%(c? -a®)x +c?(@® -b%) =0 s E _:: 41

are equal (a? # b? # ¢?).
49, What is A(adj A) equal to?

500
47. Which one of the following statements fa |10 5 0
is correct? 005
(@ a?, b2, c? are in AP. [2 0.0
() 10 2 0
(b) a? b? c? are in GP. ' 0 0 2
(c) a2, b2, c2 are in HP. (1/2 0 0
(c) OLUldd.. -0
(d) a® b?, c? are neither in AP nor 0 0 1/2
in GP nor in HP. ‘10 0
d (01 0
[0 0 1

48. Which one of the following is a root of

R |
the equation? 50. What is A~ equal to?

T
@ PileZ-a%) (a) |-2 3 -4
a?(c? - b?) 2 3 -3
[1/2 -1/2 0
(b) b2(c? -a?) ® |.-1 3/2 -2
a?(b? -¢?) | -1 3/2 -3/2
43 =2 O
(© b2(c? -a?) ) |-4 6 -8
2a%(c? - b?) -4 6 -6
[ 1/5 -1/5 0
@ b2(c? -a?) d |-2/5 3/5 -4/5
2a% (b2 - c?) -2/5 3/5 -3/5
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51. AR @{+6]+27K)x({ +oj+pk) T TF
afew 8, @ 30 +2p Fres st 27

(@) 36
(b) 33
(c) 30
d 27

52. aRet @ 3l b F = P F frw W F fag
WA |@ x b| +3|d - b| Hfrwam gf?
(@ 0°
(b) 30°
(c) 45°
(d) 60°

53. §m o % 2 v wlkwl @ o b ¥ =
F0 0%1 3R 50-4b W a+2b @& ¢, @
cos8 +cos20 Tres IU= §7

(a) O
(b) 1/2
(c) 1

J3+1

(d) 2

54. W i ABCDEF % wwegy« & af
AD=mBC 3 CF=nAB %, @ mn
Torar s #7
(@ -4
(b) -2
fe) 2
(d 4

SURN-B-MTH/81A 20

55. aRw d, b 3 ¢ Tum @ ¥ ¥ gwEq A

WA A F w8 AR d =7+ 3R
b =j+k, @ ¢ Brad auet 8 v 27
L. 1+k
-1+4)-k
3

R R T gz = v = I g

IL

fa) a1

(b) FEa 1

o) 1313t
(d ad1dnadn

56. % Wgis ABCD % fsdl, tanadl x-2y=1

3 4x +2y=3 ¥ glw & s ABCD

w1 8 g 87
fa) A=A

(b) ST A
(c) THiT TG
(d) wHES

57. ddga 4x? +9y2 =1 F wwm g o M R

w® B AR Px, y Tigm wm A Brg &, @
PO + PR Tow wten 27

(a) 2
(b) 1
(c) 2/3

(d 1/3



51. What is 3a +2p equal to if 55. The vectors @, b and ¢ are of the same

ﬁ+6}+27£]x(§+u}+ﬁ£] length. If taken_’pazrw‘:\se, th_i;.'y form

equal angles. If a =1+ and b = j+Kk,

is a null vector? then what can ¢ be equal to?

(a) 36 L i+K

(b) 33 % 1+4j-k

) 30 3

(d) 27 Select the correct answer using the code
given below.

52. For what value of the angle between
the vectors @ and b is the quantity {a) 1 only
ol - = =
|d x b| + ¥/3|a - b| maximum?

(b) 11 only
o (¢) Bothland I
() 30°
() 45° (d) Neither I nor Il
(d) 60° ‘
56. The diagonals of a quadrilateral ABCD
53. Let 6 be the angle between two unit are along the lines x-2y=1 and
5 - o 4x+2y=3. The quadrilateral ABCD
vectors a and b. If a+2b is e Ysu
A — > y "
perpendicular to 5a-4b, then what
is cos® +cos20 equal to? (a) rectangle
(@ 0 (b) cyclic quadrilateral
LR (c) parallelogram
A fd) rhombus
3+1
(d) J_Q

§7. The foci of the ellipse 4x2 +9y? =1 are

at Q and R. If P(x, 3 is any point on

84, Let ABCDEF be a regilar hexagon. the cllipse, then what is PQ+PR

— — — —

If AD=mBC and CF =nAB, then equal to?
what is mn equal to? @ 2

fa) 4 o1

(b) -2

(d 4 (d 1/3
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58. 4 P(24), Q(8 12), R(10, 14) 3 S(x, y) gy : s @ (02) v & foe PrafaRas w faem
Qﬁmﬂ‘gﬁﬁ%ﬁi,ﬁ’f{x-ky]ﬁ?ﬂ% Fif .

R 87 ;
T x? +y? =100 F W T BAgs ABC F I
i e 1 B #iR C & FEwis (6, 8) R
() 10 -8, 6) &1
(c) 12
@ 14 61. /BAC fras® suan #7
fa) n/2
59. T FH F1 GHIww (b) m/33AYM 2% /3

() m/4 A9 3n /4
(d) /6= 51/6

(x2 -4x+3)+(y% -6y+8 =0
2| Frefafea % & $9-3 5= w6 #7
L o0 % =W % 3™ fig (1,2) R 62. A% Fewis w0 ¥7

(3, 4) WEI (a) (-6 8)
. 99 & =9 % 3™ fag (1,4) 3 () (-6 -8
(3,2) ® & ©) (52, 5v2)
M. 39 % =W % 37 frg (2,4) 3k (d) =ty twgl F wnm Puaffa 58
(4, 2) |E I gFdl
1 o T gz M W I gh)
(@) ael 1 3R 11 Fw : st 9 (02) vl F To Prafefee w =
(b) & 11 3R 1M Hifsm -
(c) == 13 m ABCD % wnfgatg wwem (3fifem) & 3fk AB, DC
(@ 1,10 3% I :m%tmtﬂﬁmz&a 3), B@, 3), C(5, 1)
|

60. WaTd y? - 4kx W @ gl P@k, 4k) 63. ¥d D ¥ Fdwris @1 &7
3R Q@k, -4k) W Fmm ffsw) ok i A

2, @ £ PAQ fras = #7 fa, B il g

(€ (1, 1) @ (3, 1)
fa) 60°
(b) 90° 64. GEd = it =1 wirsde-fag =0 7
fc) 120° f@ (3 7/2) k) (3 7/3
(d) 135° ) (7/2 2 (d (5/2 2
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58. If P2 4), Q(8 12, R(10, 14) and S(x, y
are vertices of a parallelogram, then
what is (x + y) equal to?

(@ 8
(b) 10
€ 12
(@ 14

59. The equation of a circle is
(x? -4x+3+(y® -6y+8 =0

Which of the following statements are
correct?

I. The end points of a diameter of the
circle are at (1, 2) and (3, 4).

II. The end points of a diameter of the
circle are at (1, 4) and (3, 2).

The end points of a diameter of the
circle are at (2, 4) and (4, 2).

III.

Select the answer using the code given
below.

fa) 1 and II only

(b) 11 and III only
()
(d) I, 11 and IIl

1 and 11T only

60. Consider the points P4k, 4k) and
Q4k, -4k) lying on the parabola
y2 =4kx. If the vertex is A, then what
is ZPAQ equal to?

(@ 60°
(b} 90°
() 120°
(d 135°

SURN-B-MTH/81A
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Direction : Consider the following for the
two (02) items that follow :

A triangle ABC is inscribed in the circle
x2? + y2 = 100. B and C have coordinates (6, 8)
and (-8 6) respectively.

61. What is £ BAC equal to?
(@ =/2
(b) nf3or2n/3
fc) n/4 or 3n/4
{d m/6or 5n/6

62. What are the coordinates of A?

(@)
(b)
fc)
(@)

(-6 8
(-6 - 8)
(5v2, 5v2)

Cannot be determined due to
insufficient data

Direction : Consider the following for the
two (02) items that follow :

ABCD is an isosceles trapezium and AB is

parallel to DC. Let A2 3), B4, 3), C(5 1) be the
vertices,

63. What are the coordinates of vertex D?
fa) (2, 1) (b) (1, 2)

(g (1, 1) (d@ (3, 1)

64. What is the point of intersection of the
diagonals of the trapezium?

@ (3 7/2) ) (3 7/3
© (7/2 2 (@ (5/22)

[ P.T.O.



e : o 2 (02) W F T Pefafes w fEw 68. AR (L mn), S ¥ Ryg-wmw & @

HfY 43012 -m? - n?) =1 9 =¥
qH Wi 2x2 +2y2? +222 +3x +3y+32-6=0 i &
T 7ot 8
(b) S
65. e F =W w1 X7
c 4
e 4
4
@ 1
m 2B
2
3J/5
(c) FAE
3/5 7w : a7 9 (02) v F o FefaRes w fEn
(d)
2 $if -
66. 7o 1 %3 e gHa T @ 87 A WY Lix+y+z+4=0=2x-y-z+8 T

(@) 2x+2y+2z-3=0 WﬁmP:x+2y+%+l=0Emﬁl

(b) 4x+4y+4z-3=0

(c) 4x+8y+8z-15=0 69. @ ¥ R-arqea =0 7
(d 4x+8y+8z+15=0

(@ (21 -1)

® (0-12)
fdw : s & (02) W F fomg Prafafen w few © (01 -1)
A

[d) (23 -3)

M @R S @A wEEA x+y+z=1 3R
2x + 3y -4z = 8 i ufe=dz-t@n R
70. L v p1 wioede-fag o 27

67. Ffofaa # @ FR-8 s & feg-srgam &7

(a) {4: 3‘ '3)
fﬂ} (_7! -6 1)
B (76 1) ®) @ -3 3
@ (-6 5 1) () -4 -3 -3
[d (6 5 1) d 4, -3 3
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Direction : Consider the following for the
two (02) items that follow :

Let 2x2 +2y°% +222% +3x+3y+32-6=0 be a

sphere.

65. What is the diameter of the sphere?

(@) ?
o 23
fc) %
(@) %

66. The centre of the sphere lies on the plane
(a)
(b)
(c)
(d)

2x+2y+2z-3=0
4x+4y+4z-3=0
4x+8y+8z-15=0

4x+8y+8z+15=0

Direction : Consider the following for the
two (02) items that follow :

Let S be the line of intersection of two planes
x+y+z=1and 2x+3y-4z=8.

67. Which of the following are the direction
ratios of S?

(@) (-7, -6 1)
®) (-7, 6 1)
c (-6 5 1)
@ (6 5 1)

SURN-B-MTH/81A
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68. If (i m, n) are direction cosines of S
then what is the wvalue of
43(12 -m? -n?%)?

(a) 6
() S5

fc) 4

d 1

Direction : Consider the following for the
two (02) items that follow :

Let L: x+y+2+4=0=2x-y-2+8 be a line
and P: x+2y+3z+1=0 be a plane.

69. What are the direction ratios of the line?
@ (21 -1)
®) (0-12)
@ (01-1)
@ (23 -3)

70. What is the point of intersection of L
and P?

fa @ 3 -3
fbj H's "3- 3]
e} -4 -3 -3

@ (-4, -3 3

[ P.T.O.



71. WA WY z=[y] R y=[x]-x ?, v
HEaH Ui %o g1 3k x uh quie 9 R
WAl RS ®, @ 2 F AW 1R
(a) -1
(b) O
€ 1

(d 2

72. AR fla) =4x+1 3N g(x) = kx +2 T8 THR ¢
& fog(x)=ge fix) 8, T kF1 7R 701 87

(@) 7
(b) S
(c) 4

(d 3

73. e f(x) =10g;o(x? +2x + 11) F1 =AaH A
w1 '7

(a) O
(b) 1
fc) 2

{d) 10

SURN-B-MTH/B1A

lim il
x=3 x-3

s T §7

74, % fawa 3, Fefafaa & @ f9-a

(@) wim fee & & ol 1 & Toa @
(b) dr e # § ol 0 F o @
(c) wm sifees A & ol -1 % swam @
(d) Hrm s § T &

75. acosx + bsinx +c %1 Altwad A F471 87

(a) va? +b2 +¢
(b) va? +b? +e
{c) va? +b2 - ¢

(d Va® +b?

76. R fRx)=4x? +18, @ x F A awatas

e & T fRx), flo) A fdx) F GM
am?

(a) =R
() A
() T

(d) 7



71. Let z=[y] and y = [x] - x, where [-] is the 74. Which one of the following is correct
greatest integer function. If x is not regaiding: lim |x-3],
an integer but positive, then what is x—=3 x-3
the value of z?

fa) Limit exists and is equal to 1

fa) -1
(b) Limit exists and is equal to O
(b) O sy :
{c) Limit exists and is equal to -1
-1 (d) Limit does not exist
@ 2
75. What is the maximum value of
acosx +bsinx +c?
72. If f(x)=4x+1 and g(x)=kx+2 such
that f o g(x) = g f(x), then what is the (@ va? +b? +c
value of k?
(@ 7 ) Va2 +b? +c
) 5
(c) va?+b? -¢
e 4
2 2
@ 3 (d) Va?+b
73. What is the minimum value of the 76. If f2x)=4x2%+1, then for how many
function f(x) =log;q(x? +2x+11)? real values of x will f(2x) be the GM
of f(x) and f(4x)?
(@ O
fa) Four
(c) 2 fc) One
(d) 10 (d) None
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77. AR flx) =[x)% - 30[x]+221=0 B, & [«

HETH QUi %o €, o @t quiiss =l 1 9n
w1 87

fa) 13
(b) 17
) 27
(d) 30

78. MR flx)=9x-8J/x T AH g(x) = fl0)-1,
A Prafafa § @ ¥9-m w @ 27
fa) glx)= 0% Hé IR g 76 8
(b) g(x)=0F ¥ T ARClTH qeA §, A
&% o i 3
glx)=0 F @ a*aEs qA &, W T
ot &
g(x) = 0 F1 Fad T% IRfa® g ¢, A
5 = quits 7 &

(c)

(d)

79. limg[sccﬁ — tan6) e st 87

(@) -1
() O
fc) 1/2
d 1

80. AW TR f(x) fly) = flxy) T aWRF x,
yFfm iR ro=4% @ ra/2 = WA
87
(@) 1/4
(b) 1/2
e 1
(d) 4

SURN-B-MTH/81A

gw : @ & (02) wE F fog Frafafge w famw
v

qH T f o g(x) =cos? Vx 3R go f(x) = [cos x|
d

81. Fr=feflas 3§ @ =F-m fFix) &7
fa) cosx
(b) cos x?

2

fc) cos* x

{d) cos|x|

82. fr=fofiga & & F¥F-m g(x) &7
(a)
(b)
(c) x2

(@)

e : @ 2 (02) v F fon Pr=fafas w few
$ife -

T R £(x) = [x)2 - [x2] B

83. f(0-999)+ f(1-007) e wwem ¥7
(@ -1
(b) O
© 1
(d) 2



77. 1If f(x) =[x]? - 30[x] +221 = 0, where [x] is Direction : Consider the following for the
the greatest integer function, then what two (02) items that follow :
is the sum of all integer solutions?

(@ 13 Let f o g(x) = cos® Jx and go f(x) = [cos x].
ST 81. Which one of the following is f(x)?
fc) 27
fa) cosx
(d) 30
(b) cosx?
78. If f(x) = 9x — 8J/x such that g(x) = f(x)- 1, 2
then which one of the following is fc) cos® x
correct?
{d) cos|x]|
(a) g(x)=0 has no real roots
() g(x)=0 has only one real root
which is an integer 82. Which one of the following is g(x)?
fe) g(x)=0 has two real roots which
are integers (@) Vx
(d) g(x)=0 has only one real root () |x|
which is not an integer
(c) x?
79. What is lim%(uecﬁ - tan®6) equal to? {d) x|x|
x—
fa) -1
) O Direction : Consider the following for the
fc) 1)2 . two (02) items that follow :
@ 1

Let flx) = [x]* ~[x?].
80. Let f(x)f(y)= flxy) for all real x, y.

If f(2)=4, then what is the value of 3. Wit i S10: 999 4 - 003 equal fo?
1/2)?
£/2 7%
(@) 1/4
0
(b) 1/2 "
(€ 1 fc) 1
@ 4 @ 2
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84, Fr=fufas sudl w few fifvw 86. f(x) ¥ <gAoH HH F41 27
. f(x), x=0W 9ad 8|

. f(x), x=1 W@ R (@ -[1+§)
I A /A A-E/AA-A T T R/
1. %
(@) *ad 1 i "[5+§)
(b) Fa@ 1l
n
(¢) 13 13t e -[“4_)
(d) Fd1Td 0
o {1
fdw : o 2 (02) wE F g Prefafaa w R
Hif :
A ARG [-n /2 1 /2] T f(x) = cos2x + x R frdw : st # (02) Wl ¥ for Frafafan w few
Hif
8. f[x}'ﬂﬂmwnmﬁ? TEed y? =kx M@ x=k, el k>0%, & R
TN &% 4/3 T 708 2
J3 =
e
J3. % 87. k% WA ¥ 87
(b) g
(@ 1/2
(c) {LE () 1
(c) 2
NER
WS @ 2
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B4. Consider the following statements : 86. What is the least value of f(x)?

L. is continuous at x = 0.
flx) @ _(1+£)

II. f(x)is continuous at x =1

Which of the statements given above (b) —(l-yﬂ)
is/are correct? 2 2
(a) 1 only

o {3
(b) T only
() Both I and Il

“ (33

(d) Neither I nor 1l

Direction : Consider the following for the

Direction : Consider the following for th
two (02) items that follow : 9 i i il

two (02) items that follow :

Let f(x)=cos2x+x on [-n /2 n /2].
The area bounded by the parabola y? = kx

d the line x =k, where k > 0, is 4/3 :
85. What is the greatest value of f(x)? and the line x = k, where k >0, is 4/3 square

units.
o Lk
212 87. What is the value of k ?
B n 1/2
(b) 2+12 (@ 1/
(b) 1
22
2 9
(¢ 2
3 =n
il @ 2
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88. fwea g7 R gu Waea 1 dawa w0 R7 dw : st & (02) I & forg Feffes w few

(@ 1/6 3 g '
) ZjSEﬁEﬂf WEﬂﬁ!‘{f{x}=|x2—x—2|%l
(c) 1% gTé 91. I:f{x]dxﬁmaim%?
(d) 4/3 = g (@ 0

) 1

fc) 5/3

(d) 10/3

iw : o =Y (02) vET F forn Prafafes @ few

Hif : 92. [(x) dx Fu wum &7
A ST ydx + (x - y°)dy = 0 TF a&e qeiew (@ 2
2 M 3
(c) 4
(d 5
89. %A T ¥ Fu: w9 R uE = §7
(@ 131
) 192 fdw : aFm & (02) vl ¥ fon Prafeafas w feEm
HRT ;
2 3 1
5 A Y f(t) = In(t +V1+¢2) 3 g(t) = tan(f(1)
(d 133 2

93. F=fafad sy w fa=r fifse .
I fit) T fawm wem #)

90. ¥Hawhel GHIF F1 T 91 87

(@ y*+2x=c . git) 7% fawm wom B
L S Ig® § | DH-H1/FH-A T gd 2/87
(@) a1
(0 2xy*+x=c (b) %@ 1l
- (c) 131 3et
[@ 4xy-y*=c [d FdIATAD
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88. What is the area of the parabola
bounded by the latus rectum?

(a) 1/6 square unit
(b) 2/3 square unit
fe) 1 square unit

{d) 4/3 square units

Direction : Consider the following for the
two (02) items that follow :

Let ydx+(x-y’)dy=0 be a differential
equation.

89. What are the order and degree
respectively of the differential equation?

fa) 1and 1
() 1 and 2
fc 2 and 1

(d 1 and 3

90. What is the solution of the differential
equation?

[@ y*+2x=c
(b) y4+3x=c
fc) 2.7:.y4+x=c

(d) 4xy-y* =c

SURN-B-MTH/B1A

Direction : Consider the following for the
two (02) items that follow :

Let f(x)=|x2 - x-2|.

91. What is [ f(x) dx equal to?

fa) O
(b) 1
fe) S/3
{@ 10/3

92. What is f flx) dx equal to?

(@) 2
(b) 3
fc) 4
@ s

Direction : Consider the following for the
two (02) items that follow :

Let f(t)=In(t+v1+t2) and g(f) = tan(f{t).

93. Consider the following statements :

I.  f(t) is an odd function.
II. gft) is an odd function.

Which of the statements given above
is/are correct?

{a) 1 only
(b) 1I only
fc) Both I and Il

(d) Neither I nor II

[P.T.O.



94, fﬁg{t}df%ﬂﬁimt? w2 (02) v & fomg Frafofas w faem
$ferg :
(@ -1
TR wif I=J"’2mdx, T flx) =sinx 3N

b) 0 0 g(x)
© 1/2 g[x)=ainx+cosx+ltl
(d) 1
97. M2 %% fyud sua 7
0 glx)
iy ; st 2 (02) W ¥ fore Fraferfaa w Rem (@) %
$ifsm .
flo=-1 3R fO=1 % ¥4 WA e (b) _”;_2
fil-L) >R T& IFaHcHd HeH Bl HWH TN
h(x) = fRf(x) +2) 3R g(x) = (hx)? ¥
{c) In2
95. h'(0) foFues Tuar ®7 (d) 2In2
(a) -2
) 98. I frud sy ¥7
fc) O
PR (@) 45+1n2
n
96. g'(0) fFa® auer 7 B Al
(a) 4
@ 222
(b) -2 4 2
0 In2
n
@ 4 e R
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94, What is fz g(t)dt equal to?

(@ -1
(b) O
(c) 1/2

@ 1

Direction : Consider the following for the
two (02) items that follow :

Let f: (-1 1) > R be a differentiable function
with f(0) = -1and f'(0) = L Let h(x) = f2f(x) +2)
and g(x) = (h(x))*.

95. What is h’(0) equal to?
(@ -2
(b) -1
() 0

(d 2

96. What is g’(0) equal to?
(@) -4
(b) -2
fc) O

(@ 4

SURN-B-MTH/81A

Direction : Consider the following for the
two (02) items that follow :

Let I= n”%dx, where f(x)=sinx and

glx) =sinx +cosx+ 1

e equal to?

97. What is
0 g(x)

(@)

(b)

fc) In2

({d) 2In2

98. What is I equal to?

b4
= +In2
(a) 2

n

n In2

@y g

in2
d E+_
@ a2

[ P.T.O.



Ay : s 2 (02) v ¥ forn FeafaRes w fEr 101. AWM #ifsT x -3y+4 =0 R 2x-7y+8=0

Hfm o o= stwsi A Tfm 2 g Yard §)
"ﬂﬁbyxﬂtbxym=yﬁxmmxﬁy
T e W wEY e & WA e g, @
by + Thy, 1 W ¥ 87
2I x? -1 dx = U(x) Vx) - 3In{U(x) + VIx)} + ¢ (@) -2
vx2 +1
() 1
2
fc) 2
d 5
99. |U2(x) - V?(x) | o awem &7
(@ 0 102. n Y&t 1, 4, 9, 16, ..., n? F WA 130 B
n & WH = ’7
(b) 1
(@) 18
e 2
(b) 19
(d 3
fc) 20
{d 21

100. U(x) V{x) foras st 27

(a) x2 + x4 ’
103. 1 @ 10 % ¥= ¥ ¥ fim vl &
gfes® ¥4 | T Il § | 39 FAFE g4 Sl
PN widreRan =1 87
fa) 1/12
(c) "22”"4 (b) 3/40
(¢ 1/15
(d) 2vx?+x* (d) 7/120
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Direction : Consider the following for the 101. Let x-3y+4=0 and 2x-7y+8=0 be

two (02) items that follow : two lines of regression computed from
some bivariate data. If by, and by,
Let are regression coefficients of lines of

regression of y on x and x on y
respectively, then what is the value of

2
2[-*_—1 ax = U Vi)~ 3t U1 + Vi) + ¢ byy +7byy?
J.v'xz 1
(a) -2
() 1
99, What is |U?(x) - V2(x) | equal to? o 2
(@) O S
1
) 102. The mean of n observations
¢ 2 1 4, 9 16 - n2
is 130. What is the value of n?
d 3
(a) 18
(b) 19
100. What is U(x) V[x) equal to? (a0
d 21

(@) vx? +x*

103. Three distinet natural numbers are

3 chosen at random from 1 to 10. What
(b) Vx+x is the probability that they are
consecutive?
a) 1/12
(c) x2 4+ x4 IoyE 5
2 (b) 3/40
() 1/15
{2 4
(d) 2vx* +x {d 7/120
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104. A, B, C W& gfeus WM | HEiya @1 wem 107. A, 6 Wiz § 5 AR TH @& F U2 Whal & B,

gasti o Pedw wed #) aR sTeA4aR RN R 3N C, 4 M2 ® 3
3P(B) =4P(A) 3R 3P(C) =2P(B), @ P(4) HR W wwa B wiRmar wn @ R A @R C
orah s 7 42 wHa § AfF B % v 17
@ 7/29 e
) 1/6
(b) 8/29 o 14
c) 9/29 (d 1/3
(d 10/29

108. &= ZOOLOGY & & # @t wwifam
o0 ¥ aflm e oW R oW 9w

105. T 91 A 3 FaH W FEA 4, T GoH W @t%mft{m i
&1 5 3N T Herh W U1 6 Jfeha g1 9R R L :
qfd ! % IR HF I R, @4 5 W FA fa) 6/35
£ wifdrper 7= &7 B) 3/35
fa 1/3 fc) 2/35
(d 1/35
(b) 2/3
() 5/6 109. 995 100 P denad § ¥ v gl g x
Frfeues w9/ T Tl B 1 7@ =@ i whewa
(d 1/2 FMEHF x2 +x>5087
(a) 93/100
106. TF 9 § 2 well, 4 A 3R 6 T W T (b) 47/50
@ e wiru wfta o & 9= 0 P ) 24/25
:ﬂgﬁ;ﬂgﬁ;iﬁmﬁmw%ﬁmm @ 23/35
@ 1/6 110. WoH 10 99qU HEAEi 1 A famem @ &7
(b) 1/36 e
(b) 25
 1/12 i
(d 5/12 (d) 35
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104. A, B, C are three mutually exclusive

and exhaustive events associated with
a random experiment. If 3P(B)=4P(A)
and 3P(C)=2P(B), then what is P(A)

107. A can hit a target 5 times in 6 shots,

B can hit 4 times in 5 shots and C can
hit 3 times in 4 shots. What is the
probability that A and C may hit but

equal to? B may lose?
(@) 7/29 =14
() 1/6
(b) 8/29 © 1/4
(c) 9/29 d 1/3
(d) 10/29 10B. The letters of the word ZOOLOGY are

arranged in all possible ways. What is
the probability that the consonants and

105. A die has two faces with number 4, three vowels occur alternatively?

faces with number 5 and one face with (a) 6/35

number 6. If the die is rolled once, then

what is the probability of getting 4 or 5? (b) 3/35
{c) 2/35

fa)j 1/3 &
(d) 1/35

) 2/3

109. A natural number x is chosen at

fcg 5/6 random from the first 100 natural
numbers. What is the probability that
(d) 1/2 x2 +x>50?
{a) 93/100
106. A box contains 2 black, 4 yellow and (b) 47/50
6 white balls. Three balls are drawn in ) 24/25

succession with replacement. What is
the probability that all three are of (d) 23/25
the same colour?

110. What is the mean deviation of the first

(a) 1/6 10 natural numbers?
) 1/36 g
(b) 25
© 1/12 .
(d) 5/12 (d) 35
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9
111. 73 fm P x? = 8551 AR x, x5, -, xq

i=1
F U M IR TEE e o R, @
M2 462 =1 a9 T R?
(@ 100
(b) 95

{c) 90

(d) 85

112, f x;, x5, X, W AAZ RN AR X, Mk

| 9a T sran R, & 7@ wvey = R?
(@ X-x, +k

(b) nc-x+k

(c)

nx—-x, +k
n

(d)

113. % Py R 9 7@ 7% JoTen W@ R, 99 T

3 o (¥®) & w9 7 3 9| W 9@
wiftrm 701 & 7 6 @ %5 IoTE] it SEvEED
anfi?

(a) S5/64

(b) 15/32

(c) 31/64

{d 19/32

SURN-B-MTH/81A

114. T A # 2 #%e 3R 2 weh R &, s«

Fan BH 3 %2 3R 2 welt 1B #) = =
o A ¥ Fav B # At 6 S @ ol
i #om B & @& g Faeh st 21 sl
711 & T = a%e &7

(@ 11/20
(b)) 7/12
(e} 3/5

d 1

115. 7 =i A sk B % fw

P(A) = P(A|B)=0-25 3% P(B|A)=0-5
2| Pr=fafaa & 4 PR-3 wh &7

. A3 Bw@Eds §i
. P(A® UB)=0.875

1. P(A°nBf)=0-375

91 R g 2 W @ =W g

fa) Faa 13l
(b) Hae 11 R 1
(c) Faa 1 3R I

(d) 1, 11 3w 1m



114. Urmn A contains 2 white and 2 black balls
while urn B contains 3 white and
2 black balls. One ball is transferred
from urn A to urn B and then a ball
is drawn out of urn B. What is the

; :

111. Let ¥ x? =855. If M is the mean and
i=1

o is the standard deviation of

Xy, Xg,, Xg, then what is the value of

O

oAl probability that the ball is white?

(@) 100
a) 11/20

(b) 95 (@ 11/

(c) 90 (b) 7/12

(d) 85
c) 3/5
(d 1

112. The mean of the series x;, x5, '+, X, i8 X.

If x, is replaced by k, then what is

the new mean?

(@ X-xn+k 115. For two events A and B,
P{A) = P(A|B)=0:25 and P(BJA)=0-5.

) nx-x+k Which of the following are correct?

n
1. A and B are independent.
X-x, -k
(c) i
R II. P(A°UB%)=0-875
nx -x, +k
(d) e T . P(A° nB°%)=0-375

Select the answer using the code given

113. A fair coin is tossed till two heads below.

occur in succession. What is the
probability that the number of tosses

1 d 1I onl
required is less than 6? (a) 1 an only

S (b) 11 and Il only
(b) 15/32

) 31/64 (c) 1and I only
e (d) 1, 11 and I
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116. 3 IS 9HET F T ST ¥ WREwO 7 R 118. 97 whyg wi&t & H s R @ wfeEy &

5 sl W 9w gEmE w1 am A A 9 B 3k g 6 a8 s 4 o - wow T@
I 10%? g &, Wi w0 & B 2wl o s #
T g B
fa) 1/36 (@) 5/9
(b) 2/3
(b) 5/36
(c) 1/3
¢ 7/36 d 1/2
(d) 29/36

119. ©H uige wfdi D, D, 3R D, = %= A
R 97 Y x, y 3 z W Dy, D, R
D, W =mité 7w wen fifde s #1 st

mﬁmw%,ﬂfﬁﬁx{y<z'@l?
(@) 20
(b) 18
117. Tt sem (=) & 94 fivd W Socdt &

A F1 ER 9 T 6 20% \WIET wdt (c) 14

2w i @ 5 ages A P m

6 ¥ ¥ A 4 W 3E it @ forh | (d) 10

difeq &7

120. 7% U 527 ¥, IRk 717 6 ¢ v " famew

fa) 53/3125 V2 &, @ uEl n 3R p % WE wE: w=m A

(b) 63/3125 fa) 18 3% 1/3
(b) 93 1/3
fc) 73/3125
c) 18 T 2/3
(d) 83/3125 (d 9 3r2/3
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116. Two perfect dice are thrown. What 118, Three perfect dice are rolled. Under the

is the probability that the sum of condition that no two show the same
the numbers on the faces is neither face, what is the probability that one of
9 nor 10?7 the faces shown is an ace (one)?

(@ 5/9
(@ 1/36

(b) 2/3

(e) 1/3
(b) 5/36

@ 1/2
fc) 7/36

119. Three perfect dice D;, D, and D,

are rolled. Let x, ¥y and z represent

the numbers on D, D, and D

6 5 o Lt 3

(@ 293 respectively. What is the number of
possible outcomes such that x < y<z?

(@) 20
117. The occurrence of a disease in an (b) 18
industry is such that the workers have
20% chance of suffering from it. What c) 14
is the probability that out of 6 workers
chosen at random, 4 or more will suffer @ 10

from the disease?

120. In a binomial distribution, if the mean
is 6 and the standard deviation is /2,
then what are the wvalues of the
parameters n and p respectively?

(@) 53/3125

(b) 63/3125
(@) 18 and 1/3

d1/3
) 73/3125 i
(c) 18 and 2/3

(d) 83/3125 (d 9 and 2/3
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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D care and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See dirdctions in

=1 O

the Answer Sheet.

. All items carry equal marks.

Before yognproceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE OBJECTIVE
TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above to that question.

(iii) If @ question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.
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